
!ight and *nergy 
 

*nergy of 0hoton 1*2 
1J2 

4re5uen7y 1!2 
1892 

Wa;elength  1"2 
1m2 

3.4A B 10E21  A.GG B 10EA

2.H2 B 10E20  I.J2 B 10EI

I.2H B 10E20  3.1I B 10EI

1.13 B 10E1H  1.GI B 10EI

1.4I B 10E1H  1.3I B 10EI

3.11 B 10E1H  I.3J B 10EG
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1. ComMlete the taNle aNo;e.  
2. 0lot energy 1yEaBis2 ;s fre5uen7y 1BEaBis2.  
3. Petermine sloMe of the line. 
4. What is the signifi7an7e of the sloMeQ 

 
4ormulasR  

* S h! or 7 S "! 
7 S 3.00 B 10Jm/s 1sMeed of light in a ;a7uum2 
h S 6.626 × 10-34 m2 kg / s (Planck’s Constant) 
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